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Let n € N which one of the following 1s true?
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If x, y are any two non-zero real numbers, a; =X/ + vi. 4 = (ﬂg )nxn and P, O are two nxn

matrices such that 4 = xP + yQ then
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P+ O 1s symmetric and P— Q 1s skew symmetric
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If z, =2-3i and z, =—1+i. then the locus of a point P represented by = = x + in the

Argand plane satisfying the equation Ai‘g[ = ] -
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If the complex number a 1s such that ‘a‘ =1. and arg (@) = 6 then the roots of the equation
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If x2 +2 px—2p+8>0 for all real values of x, then the set of all possible values of p 1s
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If the roots of the equation (p—3)x*+2(p-3)x+2p—5=0 are real and distinct for

a< p< B and (S —«) is maximum, then the extreme value of the quadratic expression
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If the equation x” —7x~ +14x—8=0 1s transformed to 3~ + py . — (0 when its roots
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If one root of the equation x° —9x* +26x—24=0 is twice the other then the sum of the
cubes of those two roots is
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There are 10 points in a plane of which no three points are collinear except 4. Then. the
number of distinet triangles that can be formed by joining these points such that atleast one
of the vertices of every triangle formed 1s from the given 4 collinear points 1s
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The number of ways of arranging 8 boys and 8 girls in a row so that boys and girls sit
alternately 1s
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If the coefficients of (2 + 4)m and (o —2 )m terms in the expansion (1+ x)zmg are equal,

then o=
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If n is a positive integer then the coefficient of x% in the expansion of
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If the period of the function f(x)=sin5xcos3x is o then cos o=
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If A+B+C=2S. then
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When ¢ is irrational, the number of solutions satisfying the equation 1+ sin” ax = cos x 1S
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Tan™ [ﬁ] +Sin~t [%] — Cos 'x.thenx=
£

Tan_l[i] +Si11_1[ : ] —Cos 'y wond x=

242

Py

Options:

[ S—
S

1. ¥

s
5~



.
3.%‘?3\‘,g

1
22
®

4.

Question Number : 25 Question Id : 4928632265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

: é— cosech™ (— 3 ] =

-

coth™ 3+ tanh~

Options:

N

0
3.

log 33
d ®

Question Number : 26 Question Id : 4928632266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In any triangle. if the angles are in the ratio 1:2:3. then their corresponding sides are in the
ratio
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Two ships leave a port from a point at the same time. One goes with a velocity of 3kmph
along North-East making an angle of 45° with East direction and the other travels with a
velocity of 4 kmph along South-East making an angle of 15° with East direction. Then the
distance between the ships at the end of two hours 1s
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In a quadrilateral PQRS, A divides SR in the ratio 1:3 and B 1s the mid point of PR. If,
3SR — QR —3PS—PQ = kAB. then k=

PQRS S&8z0e*, SR &0 Aedd 113 I98S° JFedgod HSodasn PR By, Sodg
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It 1s given that @.b. are vectors of lengths 6. 8. 10 respectively. If 7 is perpendicular
to (5 + F). b is perpendicular '(F +a):and  is perpendicular to (E +b ) . then the length

of the vector 7+ 4+ 7 is
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If the direction cosines of two lines are given by / 4+ 35+ 5n =0 and 57— 2mn+6ln =0-
then the angle between the lines 1s
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If @.b.c.d are 4 vectors such that 7-b=0. |axc|=|a|c|. ‘Exﬂ:ﬁ”ﬂ_ then
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If @.b.c are three non coplanar vectors and g is any unit vector. then
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Ifthe line 7 =@+ is parallel to the plane ¥ =c+Id +me . then
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The mean deviation about the mean for the following data is
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If the coefficients of variation of two distributions are 40 and 20 and their variances are
144 and 64 respectively. then the mean of their arithmetic means is
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A number » 1s chosen at random from the natural numbers 2 to 1001. The probability that
n 1s a number that leaves remainder 1 when divided by 7. 1s
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. 3 |
If 4 and B are two independent events such that P(B)= = and P [A U B¢ ) =0.8 then
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In a certain recruitment test with multiple choice questions. there are four options to each
question, out of which only one is correct. An intelligent student knows 90% of the correct
answers while a weak student knows only 20% of the correct answers. If a weak student
gets the correct answer. the probability that he was guessing is
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If the mean and variance of a Binomial variable X are = and 1 respectively. then P(X >1) =
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If a random variable X follows a Poisson distribution such that 'P(X = 1) =3P X =21,

then P(X =3)=
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Let 'Q (x;.y) be a variable point and R (1. 0) be a point on the circle .xz +y*=1and Pbe
the mid point of OR. Then the locus of the point P 1s
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The point P(3, 2) undergoes the following transformations successively

(1) Reflection about the line y = x
(11) Translation to a distance of 3 units in the positive direction of x-axis

(111) Rotation through an angle 1 about the origin in the counter-clockwise direction
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Then. the final position of that point is
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The equation of the straight line which is perpendicular to the line 5x — 2y = 7 and passing
through the point of intersection of the lines 2x+3y—1=0 and 3x+4y—6=0 is

Sx—2y="7 395 vonom &ob>», 2x+3y—1=0 3000 3x+4y—6=0 Spo Podd
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Options:
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The angle between the line joining the points (1.—2).(3.2) and the line x +2y -7 =0 is

(L-2).(3.2) Dodde Koadrah $668p H0ck0 x+2y—T=0 $é68pe b oo
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The vertices of a triangle are 'A(l.?).B{—S.—l) and 'C(—I.Z) . Then, the equation of a
bisector of the Z4BC is

F

A(L7).B(-5.-1), C(-L2)e0 =8 @aomo Bwd) 8onwo. wond LABC Boof
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Options:
x—y+4=0
1.9
x+y+4=0
=%

2x—3y+6=0

x—2y+4=0
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Let 3x* +8xy —3y> =0 represent the lines L,. L, and 3x% +8xy—3y" +2x—4y—1=0
represent the lines L;. L, . Let L be the line joining the points of intersection of ;. L; and
L,. Ly. Then the area (in square units) of the triangle formed by L with the coordinate
axes 1s

.31-2 +83‘f."r'—3.1’2 =0 drdod Dpeo L;. L, Sodaswn 31‘2+81j-‘—3_1-‘2 +2x—4y-1=0
dordod Spen L, Lyedosoomro. Ly, Lydodcsn L, Lyo podsd HothHhodo §80 Tp L
wdofoomro. edyd Wrdsgod L 236363 ©ghe STrogo (FE8Y dSardLs”)
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Question Number : 48 Question Id : 4928632288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The equation of pair of lines passing through origin and forming an equilateral triangle with

the line 3x+4y—-5=0is

3x+4y—5=0328 SHowrdv B2herd) D, Hure Do) KomRFdh Byraboribin
G008, Hab B0

Options:

3952 +11y% —96xy =0
1.9
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xX” +.1’2 —4xy =0
29

2 2
x'=Txy+12y° =0
5 ¥

257 463y +37 =0
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

From a point A (1.0) on the circle ' x> 4+ J:z —2x42y+1=0.4 chord 4B 1s drawn and 1t 1s
extended to a point P such that 4P =34B. The equation of the locus of Pis

432 2x+2y+1=0 50D o8 Doy A(L0) $08 erg AB D A, AP =34B

edghin TAY POomy SE& AR, P Rwy), Hoddddansdeo

Options:

2
Y+t 2x+6y+1=0
A

x“+y° —2x+4y+1=0
2.

X +y*—2x+8y—8=0
=z B

. 3
X +y -2x4+3y+1=0
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The tangent at 4(—1.2) on the circle y2 +_1-2 —4x—-8y+7=0 touches the circle

x* +y? +4x+6y =0 at B. Then a point of trisection of 4B is

'3-2 2 _4x_8y+7=0 o3 SE0p Ko 'A(—Lz) :}g (% Sy88®

Options:

Question Number : 51 Question Id : 4928632291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
If C, and C, are the centres of similitude with respect to the circles

e y* —14r+61 +33=0 and 2+ ¥ S 30x —2y+1=0 then the equation of the circle
with C,C, as diameter is

x*+y*—14x+6y+33=0 5080830 ¥2 +y2430x—2y+1=0 S Syxrg C; Sodasw

S ey M

C, oo $&rd8omocnd C,C, orgdomie 58 S0E8mo
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Options:

2x* +2y% +30x-33y-17=0
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2x242y% ~14x+9y—13=0
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2x% +2y* —39x+14y+74=0
o v

i+ 2y =2y 48y ~5=0
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Question Number : 52 Question Id : 4928632292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If tangents are drawn to the circle y? + 2 =12 at the points of intersection with the circle

x> + 37 —5x+3y—2 =0 then the ordinate of the point of intersection of these tangents is

. o £ "j 'Fj i -
Y4y =12 o3 HIR8, x*+y° —Sx+3y—-2=0 o3 58
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From a point P on the line 4x—3y =6 two tangents are drawn to the circle

' ; 1 24
x> + 3% —6x—4y +4=0._If the angle between these tangents is Tan™ [?) .then P=

4x-3y=6 &3 $5€8p Wb o8 VoY Pood x*+3° —6x—4y+4=0 S)T:08

2 3
Bodd é&iﬁﬁg}tm Abard. e Eﬁgo"ﬁa:m $ogg Fewo Tau_l[“—:’) wowd, P=

Options:
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Question Number : 54 Question Id : 4928632294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If '(—1. —1) is the focus and x + y+4 =0 is the directrix of a parabola, then its vertex is

(—L—1) & O 500050 ¥+y+4=0 H IcHSEPpTH LS STHooho B,

30500

Options:
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If anormal chord of a parabola y* = 44x subtends a right angle at the origin. then the slope
of that normal chord is

12 = 4ax ©3 Socdedcho B, &8 whHoon g rodoldy & vonfmo D, U
woon &g BRE), T
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=
If origin is the centre. X-axis i1s the major axis and JE 1s the eccentricity of an ellipse

which passes through '(—3. 1), then the equation of that ellipse is

|2
SorodothhHd Sogord, Xy o gord S0k J; S G ogsmSs 894,

(-3.1) DosopromFch BySyEo Bwg, $ho¥dmo

Options:
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3x +5y° =32
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2.,
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2 2
. x ¥y B ;
The slope of a common tangent to the ellipse = + ? =1 and the circle 2 + ‘-,.-3 —16 18
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Question Number : 58 Question Id : 4928632298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The distance between the tangents drawn to the hyperbola 352 y* =3 . thatare parallel to

the line y =2x+4 is

e 2 . i ; .
3" — 17 =3 o3 w8l0°S50csril, y=2x+4 o3 JE0pH Sdredomr wodladnm
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If the distance between two points 4 and B is d. and the lengths of the projections of 4B on
the coordinate planes are d,. ds. d; then

A 56050 B o3 Hotddo Sy Srdo dHodosn A8rdE deron 4B BwE), von JEFre
FEJew d;. dy. dyoe0d

Options:
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Question Number : 60 Question Id : 4928632300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

L 1s a line passing through the point' A(1.0.—3) and parallel to a line having direction ratios
0. 1. —2. P is a point on the line L which is at a minimum distance from the plane
2x+ 3y + 5z =1. Then the equation of the plane through P and perpendicular to AP is

Lede A(10.-3) Doths omdrsr, 0, 1, -2 e 65 Ao Ko Bps SSrodsorr
%08 Op. Pold Op L o, 2x4+3y4+52=1 S8 EAQ Srdod’ wotnod.
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Options:
y+2-=12
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y=2:+4=0
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Question Number : 61 Question Id : 4928632301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Let 7, be the plane passing through the points (0. 1. 2). (1. 0.-2). (-2. 1. 0) and 7, be the
plane passing through the point (1. 2. 3) and perpendicular to the planes ¥+ y+z =1 and

2x—3y+z=>5.1f0is the acute angle between the planes 7, and 7, then cos 6=

0. 1,2), (1.0.-2), (-2, 1. 0) DochoHe Koa FSoderdy m; ©d, (1.2,3) Dok o
FSr x+v+z=1, 2x-3v4+:=5 oo oo God ST ) .JI'Z B DDBIOTO.

Ty T, dore DFgie ©H08%0 0 wond cos 0=

Options:
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. cosdx—4cos2x+3
lim . =
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x-2F —x | 2=
fa=4it ——and = Lt then
x—0 1—cos x x—0 \/1+x3 _\/1_sz
%+ 2* =% G M
a= Lt — Sipgks f= L B0
x—0 1—cosx %80 \/1+ 2 _\{]_ 2
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If fis a real function such that £ (4)=4 and f(4)=16. then E}l Jx_a

fe3a f(4)=4 6050 £(4)=16 edhtuwinm & T3 Hihohioons,
: S Lol oded o
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Question Number : 66 Question Id : 4928632306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Ifll‘i‘ = (sm—lzx]z +(C‘05_12x)2 , then.(l —4x? )}'3 —4xy =

 1~ . (Sinrl:;r)2 + r:os-lzx)z@ma (1-4x2)y, ~4xy, =

Options:

16
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Correct: 1 Wrong: 0

Let f(x)=x" +2x* —x beareal valued function. Then the value of Lagrange’s constant

Cin(-1.2)1s

. 2
fx)=2" +2x" — x &38 o8 RS
Qurogdn € Joad

Options:
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: - Z 2..
On ICR—{—L[}_ jTan 1[1_;}(&:

- | "
Ir::R—{—l_[}ﬂ.«_jTan_l[ Tz)dx:

& 1—=x%

Options:
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The angle between the curves y =sin2x and y = cos 2x is

y=sin2x $H06050 y=0c0s2x SEro K¢y Swo

Options:

.Tﬂll_l \E
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; iy
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.Tan_1 [ sz]

Question Number : 70 Question Id : 4928632310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The ratio between the length of subtangent at any point other than origin on the parabola

ﬁ — 16ax and the abscissa of that point 1s
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12 =16ax ©3 JTI0GH0D JrONORIHTR JBIT DB 58 o &ONY pow s,
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dx

IJ(r—l)(r—z)

Options:

Sin™! (21 + 5)+c

1

sinh™ (2x—5)+c
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cosh™ (2x-3)+c
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Sin™'(3-2x)+c
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Correct: 1 Wrong: 0

i .
If J‘LT i dv=ATan 'x+B Tan"'x" +c, then (4.B) =
| |

——dx=ATan"'x+ B Tan"'x” +¢ eand, (4.B)=

| 41
jx +1
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Question Number : 73 Question Id : 4928632313 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

| 2 2y 2 2y x" Dx
x(1+ x)log(1+ x?)dx = F(x)log{1+ x*) - =Tan 'y — == — :
If jr(—rx]ﬂg(-+r ) X (T)Gg{-+T ) g T s s it e
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Ifl = J‘cm"" xdx then 65 —5I, =

i o= J.CDS” xdx eond .Gfﬁ ~51, =
Options:
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| log x ;
Iff(:r):| 1; | . then Jf{r}dr:
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Options:
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. ; | |
The area enclosed by the curves ¥y =8x—x" and 8x—4y+11=0 is
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Options:
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dx
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. : . ; 1 dv .
The general solution of the differential equation [—j - r)d—1 +3y=11is
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A family of curves whose equation is general solution of a differential equation having
order 1 and degree 3. 1s

1 5057momid, 3 8858 §OAS e vigod $E8E I8 FTdn TGS ©dbogdarsdno
Sordod wE Spre Bdwomo

(g. a. ¢ are arbitrary constants)
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Options:
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The general solution of the differential equation 4 se 3 15

dcx x+y+l

D1 o3 estodas 5256w Gng, ST60 6
dc x+y+l

(k. c are arbitrary constants)
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Options:
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Question Number : 81 Question Id : 4928632321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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A nucleus of Deuteron or Deuterium is a bound atomic system best described by

i

Bgod Bo $ogidboiho 3w BoIGESL & BHBoHRAS HESr0 BB

L Er

8% 583
Options:
Composed of a proton and a neutron

[BFérmado Sobadw éﬁg@ﬂém 500/ trotao
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Spherical shaped
Aesr8os” Godod
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Contains more than two nucleons
Cot¥od I8N Srg8airdido BOA wokod
5om 2o
Proton and neutron are bound by electrostatic forces
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Question Number : 82 Question Id : 4928632322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

A wooden cubical block of mass m = 20 kg 1s measured within an error of 10 g. Its side
length 7/ = 100 cm is measured within an error of 1 mm. Then the relative error in the

measurement of its density 1s

.8 § T8 Oy (5550730 10 g §%0& m =20 kg OIS, o) ha FEHS
1 mm &loé® =100 cm > OO, ®ondYPdh T Foddd Fenthbes® Ko F o

&0 Jend

Options:
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3.5 x1073
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4.8 x107
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A vehicle starts moving in a straight line with an acceleration. a =4 m/s?. with initial velocity
equal to zero. After accelerating for time ¢,. the vehicle then moves uniformly for £, and
then finally decelerates for time #, eventually coming to a stop. The total time taken during
the motion is 10 s and the average velocity during the motion is 5.1 m/s. The time taken by
the vehicle during acceleration is

a8 THrdsn $8¢dp Jowd a =4 M/s? S¥nind’ §doko FbodNL. T §OSH0
D08y 1 B0 T Eeldn Bod, ©d JEEET 1, Toorin 8D VIS 1) SO0 FEw
20180 Bob BAFE0H. [Poireod” 88 Iwdo stoo 105 Hdcsw Hairsaod’
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A body travels in a straight line from point 4 to point B with an initial velocity zero and
uniform acceleration. covering 1 m during the first second and 39 m during the last second.
The distance between 4 and B in m 1s

28 S0P ST Srgos® 4 Doty H0b B Do SOFKo by Sidasn 868
$182006" HAirBHR, DG DENS 1 M ErT) Hodcko D50 PESS® 39 m Srod)
Boiredinod. 4 Hockn Bo Hidg drdo meod*

Options:
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A cricket player can throw a ball with an initial speed of 30 m/s. What is the maximum
range the player can throw the ball? (Neglect air resistance. Take g = 10 m/s?.)

28 (§38 vl 208 30 M/s FO 68 VM. s & 208 IDGH KO
g8 (MO AT PH0 B&:HTHHw, g =10 m/s*> r &8 H050)

Options:

100 m

1 =
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A particle moves in_Y-¥ plane with x and y varying with time ras x(¢) = 5¢. v(£) = 5t(27 7).
Atwhat time 1 seconds the direction of velocity and acceleration will be perpendicular to
each other.

] i e Lo : P 2
X-Y o00es* of Sdin sPwo f & o x H8diw yeo x()=5t. YO =5tQ27-17) v

Srddr (Hoirsdined. @ S o DOk Srdmoes LETITEES vouom J Too (sec.)
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A bullet enters in a piece of wood with velocity v,. The resistive force acting on the bullet
in the wood 1s proportional to V% .If the total distance travelled by the bullet 1s proportional
. ],5

to (v, )" . then the value of Bis

2.8 208E Jtlo Vo & o8 S olg $008) %8 (H33008. Folhgd’ Bl HATR0EN IS G880
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A mechanical system consists two springs of stiffness coefficients &; and k,
connected in series. The minimum work to be performed on the system to stretch it by
Al'1s

o8 airo@8 S50 ky Soboio K BN eesten A EH8S Sodwbd Bod Ryofod
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A block of mass 5 kg 1s pulled by a force F as shown in the figure. If the coefficient of
friction is 0.1. then the force needed to accelerate the block to 3 m/s® to the right is
close to

00" Wrdd Ao 5 kg |$Sgo73re w8 630 F weod o, Sodee o 0.1
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A particle of mass ‘m’ kg moves along the X-axis with its velocity varying with the distance

travelled as v = kx” . where k is positive constant. The total work done by all the forces
during displacement of the particle from x =0 to x =d is close to
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The masses and positions (in rectangular coordinates) of four particles are as follows: 1 kg
at (a. a). 2 kg at (—a. a). 3 kg at (—a. —a) and 4 kg at (a. — a). The position vector of the
centre of mass of the system of four particles 1s
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A solid sphere is rolling without slipping on a semi-circular track of radius 10 m as shown
in the figure. The radius of solid sphere 1s much smaller than the radius of semicircular
track. At the lowest point. it has a velocity 10 my/sec. To what maximum angle 6 from the
vertical will the sphere travel before it comes back down? Neglect the rolling friction
between the sphere and the track. (Take g = 10 m/sec?)
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A block of mass (10 &) g. where o 1s a constant, is moving with velocity 3 nv/sec to the
right collides inelastically with the block on the right with mass 10 g and sticks to it. The
right block 1s connected to three springs as shown in the figure. The spring constant of each

spring is 2 N/m. If the amplitude of the resulting simple harmonic motion is E m. then
the value of & is
28 &30 (10 @) 2835072 ()0 0eSB PET°3) OA Bo&IHSL 3 M/sec Iros® (Hairdls
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r p ;
The mass density inside a solid sphere of radius R varies as £2(7') = 2 [EJ .where 2, and
3 are constants and 7 is the distance from the centre. Let E; and E, be gravitational fields

; R E o
due to sphere at distance 5 and 2R from the centre of sphere. If FE =4 _ the value of B 1s
1
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The pressure to be applied to the ends of a steel cylinder to keep its length constant upon
raising its temperature by 100 °C is
(Thermal expansion coefficient. &= 11x10-° /K. Young’s Modulus = 200 GPa)

o8 &8y & st 100 °C o8 DodYd, T°d FEY Jom G odS8508, TR
D% 230850 Wohdeobs bEdsn
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The root mean square (rms) velocity of an ideal gas at a temperature 7'1s v. If the temperature
1s increased to 4 T. the rms velocity of the gas 1s
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A glass beaker contains 200 gm of carbonated water initially at 20 °C. How much ice
should be added to obtain the final temperature of 0 °C with all ice melted. if the initial
temperature of ice is —10 °C. Neglect heat capacity of glass

[Use : C,..= 4190 J/kg °C . C;, = 2100 J/kg °C , Ly = 3.34x105 J/kg]
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Heat loss takes place from a body maintained at a temperature of 400 °C to the
surrounding air at 30 °C by convection and to the surrounding surfaces at 30 °C by radiation.
The Newton's cooling coefficient is 20 W/m? K and the Stefan-Boltzmann constant is
5.67+107% W/m? K*. If the rate of heat loss by convection is equal to the rate of heat loss
by radiation. the emissivity of the body surface is

400 °C &syi8 3¢ oS 2.8 3P S0l 30 °CIE o 2 JBIEMTIS'AS HoSTIS50
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A Carnot engine absorbs heat from a reservoir maintained at temperature 1000 K. The
engine rejects heat to a reservoir whose temperature is 7. If the magnitude of absorbed heat
1s 400 J and work performed is 300 J, then the value of T'1s

&8 §°0) ofogdn 1000 K 6858 do ooty Sood wldod (rdyoed.
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The mean kinetic energy of monoatomic gas molecules under standard conditions is (E; ) .
If the gas 1s compressed adiabatically 8 times to its initial volume. the mean kinetic energy

; . E’z .
of gas molecules changes to (E2 ) The ratio Q 15

(E)
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The speed of a transverse wave on a string is 160 m/sec. If the three resonant frequencies
of this string respectively are 160 Hz. 240 Hz and 400 Hz. the length of the string is

E.'l

§ do@n 88¢E Sdor 38 160 m/sec. & So@ DBwE), Sk wdTrd PSiHIrgen
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Consider a concave mirror of 10 cm focal length illuminated by an object kept at a distance
of 25 cm. The distance at which the image is formed and its magnification respectively are

10 cm srergodddnie Hirs s S8R, T Sood 25 cm Sr8oes® &odd 5HHI
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Two objects Pand Q are placed at 10 cm and 30 cm in front of a convex lens of focal length
20 cm. The correct option for the image of P and QO is

P 5080w Q @3 Bodo Sdudeds 20 cm rergoddin do e SogrsdSiasin Swod
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Calculate the minimum thickness of a soap film (» = 1.33) that results in constructive
interference in reflected light. if the film 1s illuminated with light whose wavelength in
free space 1s 532 nm.
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A thin spherical shell encloses a concentric solid sphere. The radius of the shell is (0.06}% m

and its surface charge density 1s 1076 C/m? . The radius of the solid sphere 1s ( 0_{}1)% m

and its volumetric charge density is 3x10™C/m’. .E.D 1s the permittivity of free space in

C* /Nm?”. The electric flux through a spherical surface concentric with the spherical shell

and of radius greater than that of the shell. in V. is
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A conducting sphere S; of radius r, is connected by a conducting wire to another conducting
sphere S, of radius », where 7, =3 cm and r; = 2 cm. Before they are connected, S; carries
charge of 10 units. The electric potential at the point which is at a distance 4 cm from the
centre of S; and a distance 3 cm from the centre of S, 1s
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A 500 Q resistor connected to an external battery is placed inside a thermally insulated
cylinder fitted with a frictionless piston. The cylinder contains an ideal gas. A current 7 of
200 mA flows through the resistor as shown in the figure. The mass of the piston 1s 10 kg.
Assuming g= 10 m/s? the speed at which the piston will move upward. due to heat dissipated
by the resistor. so that the temperature of the gas remains unchanged is

g
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A cylindrical shape resistance 1s connected to a battery with emf 57 The resistance per unit

s
4 X " :
length varies as p(x) = p, [—J where p, and o are constants and x 1s the distance from
&

one end of the resistor. The magnitude of product p, L 1s 10 Q. where L 1s the length of the
resistor. If the thermal power generated by the resistor is 20 W, then the value of e 1s
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Consider a current carrying wire shown in the figure. If the radius of the curved part of the
wire 1s R and the linear parts are assumed to be very long, the magnetic induction of the
field at the point *O” 1s
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A charged particle moves with some initial velocity along the direction of external magnetic
field B. Now if we apply uniform electric field perpendicular to the magnetic field. the
trajectory of the charged particle will be
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A magnetic dipole is under the influence of two orthogonal magnetic fields. B, = 0.5x10™°T

and B, =0.866x107T . Ifthe dipole comes to stable equilibrium at an angle 6 with respect

to B, field. the value of 0 1s
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A wheel with radial metal spokes 1 m in length is rotated in a magnetic field of 0.5x107* T
normal to the plane of the wheel. If the emf induced between the rim and axle is /3000 V.
the rotational speed of the wheel in revolutions per minute is

1 m>E3S BEoHS S esbooss EOAS &8 SES © S Serds voadiS o 0.5x107T
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An inmitially charged undriven LCR circuit having inductance L. capacitance C and resistance R
will
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An electromagnetic wave having frequency 4x10!* Hz is passing through a small volume.
The energy contained in this volume oscillates with frequency
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Light of frequency 4~10' Hz is incident on a metal surface of work function 2.14 eV.
resulting in photoemission of electrons. The maximum kinetic energy of the emitted
electrons is [h = 6.63<1073% Js]

I PRocko 2.14 eV e o 'Y doon 4x10M Hz 2r&:98g0i0 5708 85308580
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If a proton is accelerated through a potential difference of 1000 V., its deBroglie wave
length is (Given m = 1.67<10~" kg, h=6.63 x 107*Js)
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In uranium radioactive series. initial nucleus **® U, decays to final nucleus **° Uy, . In this
process the number of o-particles and P-particles emitted are
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Determine V. in the following Silicon-based transistor circuit
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The voltage-current characteristic of a diode during forward bias is given by
1= 78107559 . where I is the current in mA and V, 1s the diode voltage m V. The
dynamic resistance of the diode in €2, when the current is 4 mA. 1s
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The height of a transmission antenna is 49 m and that of the receiving antenna 1s 64 m.
What should be the maximum distance between them for line of sight transmission?
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When uncertaiity in position and momentum are equal. then the uncertainity in velocity 1s
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Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which of the following are correct?
a)  Electron density in XY plane for .dx}_ » orbital is zero

b)  The energy of 3p orbital is higher than the energy of 2p orbital
c)  3p,orbital has one angular node
d)  4f orbital has no radial node

Bod FBS D JOGDII?

Wl s)trd8 XY dood” JuEe Froldd o)

b) 3pedird €8, 2p shird 8§ $o8 J8D
¢) 3p,u0\ird% ol §Boh J& wodnod
d A eoirss SGond I& Tl

Options:

, % ab.cd

b.c.a

c.d.a

4 B

Question Number : 123 Question Id : 4928632363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘What 1s the correct order of atomic/ionic size for

¥

S8R0/ @odrdE Ve HO00S B0



Options:

Cur<=Cu<Zn* <Ag

1. %

5 Zn** <Cu"<Cu<Ag

Ag<Cu<Cu"<Zn*
3 ®

Cu*<Zn**<Cu<Ag

Question Number : 124 Question Id : 4928632364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the correct statements from the following

a)  The dipole moment of CO, and BF, is zero

b)  The dipole moment of NF, is higher than the dipole moment of NH,
c)  The dipole moment of HI 1s lower than the dipole moment of HCI1

Boh T&S” DO ISYme Botiod

{ = T —_—

) CO,%50050 BF,0 &igos @rsossn &

b) NE; &gl grdosdos, NH; &g @rdofdn 808 2899
¢) HI&ges erdosshn, HCl Hgehd erdssn §o8 #5805
Options:

a. C
1. ¥

a.b.c

Question Number : 125 Question Id : 4928632365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Identify the pair that 1s not 1sostructural

S%0 Aoyeedn B zodadd KoBood

L=
Options:

., PCLBIF,

CH,. SiCl,

o W

€O . NO;

3 ®

"y
.« AIE;,SE;

Question Number : 126 Question Id : 4928632366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the odd- electron molecules from the following

rl

$od >8S® BOdowg ‘D@@TE @Yo Hiotod

C,H, SCl, NO N, NO,

(a) (b) (¢) (d) (e)

Options:

a.c.d
. w

- b.c

; » a.d

il
4 o

Question Number : 127 Question Id : 4928632367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The ratio between the RMS velocity of N, at 200 K and that of CO at 800 K is
(molecular mass of N, = 28 g mol™'. molecular mass of CO =28 g mol™)

200K 58 N,5:8050 800 K 58 CO o RMS Jro 28

(N, @080 =28 gmol™!, CO weaszrdo =28 g mol?)

)

Options:

1.00

Question Number : 128 Question Id : 4928632368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

For a fixed mass of an 1deal gas the correct representation 1s

QohDd (55078 Ko eddHTosng DBFTHE J6?

Options:




T »w
V
P
V> V>V
3 ® T(K}
A T3 Tz
Z‘I
\% :
TS = Tl :, Tl
4 ® ¥

Question Number : 129 Question Id : 4928632369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The amount of iron (Fe) in g which can be produced from 600 g of magnetite ore is
[Atomic mass of Fe : 55.8]

600 g © S8 Snbpludn Dob wé)f odbg oda (Fe) Bbgome g od*

oy

[S8dSrea0 (@Sg0m © 55.8]

Options:

450

Question Number : 130 Question Id : 4928632370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



If stoichiometric quantities of KMnO, and K, Cr,O, mixture is added for the oxidation of
Fe?" to Fe*" in acidic medium. then Fe*" will be oxidised

esdairsgod® Fe?* & Fe''m efiEdndn maothid Jonse $osraro KMnO,
8050 K,Cr,0, bFfosns §0nsH%, Fet efgdosn
Options:

Equally by KMnO, and K,Cr,0,

KMnO, 58050 K,Cr,0, o8 ddrsSom adords

More by KMnO,

KMnO, & J89,5m a8
2 ¢

More by K,Cr,0,

K,C1,0, & 285 8m 262608

No reaction

8 @t
4,

Question Number : 131 Question Id : 4928632371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A sample of argon of 1 atm pressure and 300 K expands reversibly and adiabatically from
1.25 dm’ to 2.5 dm?. Calculate the approximate enthalpy (in J) change

[1) C_ for argon is 12.48 JK-1, ii) Assume argon to be an ideal gas. iii) AT = 111.5 K]

300 K So8csn 1 atm béso $¢ esord 1.25 dm’Sood 2.5 dm’ &0 383 & @), Soedciomr
TgEH50 Bokoh. JoFd A Iy (J o) & 8§ ood

[i) s C,=1248 JK™L. ii) 6008 esdd)ardind o e odw, iil) AT =111.5 K]
Options:

20.9

1 %



> o

5 % 234
58.5

4 ®

Question Number : 132 Question Id : 4928632372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If equilibrium constant of a process is 3.8 x 1073 at 25°C. standard free energy change of
the process is
(R=28.314 T mol™! K1 log 0.0038 =-2.42)

oro8dn 3.8 x 102 eond, HBcH8 s BN

2(50% DETwE

[id

-2
LA

°C 5¢§ 2.8
)
(R=8314 ITmol! K1, log 0.0038 =-2.42)

—
£3¢s°

Edﬂ

Options:

5.7 kJ mol™!

9.9 kJ mol?

13.8 kJ mol™?!
3 W

15.6 kJ mol™!

Question Number : 133 Question Id : 4928632373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following compounds give basic solution on hydrolysis?

Bob 2 dAFaren eI Bod FE [THarod maron

a) NH,CI
b K,CO,
¢) NaB,0,-10H,0
d) NaCl
Options:
ab.c
i -
b.c
o of
il b.c.d
c.d
4 ®

Question Number : 134 Question Id : 4928632374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Hardness of water 1s 200 ppm. Calculate the molarity and normality of CaCO, of the water

¢ 578558 200 ppm A5 B, CaCO,Irerdd SHdoin TP do 8§ 0wdw

Options:

4x103M:2x 103N

2x10°M:4x10° N

> R

2w 2X103M:4x103N

1x10°M:4x10°N



Question Number : 135 Question Id : 4928632375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which pair of elements on combustion in air give superoxides?

-

o Dreste 2E moe” ol otdNE Hrdb o

m

&en Qéﬂjé&@?m

Options:

11, Cs

1 ®

K.Rb

£

4

Li.RD
®

i

K.Li

Question Number : 136 Question 1d : 4928632376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When borax 1s dissolved in water. the product formed 1s

o5 ABS 8R0S E :Dti;jé.: € 8)5)00
Options:
H,BO,
1.¢
H,BO,
2
3 % 8,5,
B,O,
4 B

Question Number : 137 Question Id : 4928632377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

S10, reacts with

SiD_} HB & BT oG

Options:

H,SO,.HF

1%

~ HF.NaOH
2. v

Na EC‘OT NaOH

3 ®

Na,CO,.H,S0,

4 %

Question Number : 138 Question Id : 4928632378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pure water would have a BOD value of

HEZ05 5 BOD e

Options:
about 1 ppm
SemHm 1 ppm
e ) PP

5-10 ppm

> R

10-15 ppm

15-20 ppm

Question Number : 139 Question 1d : 4928632379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Tropolone is

ETHSR dodd

Options:
benzenoid and aromatic
BoRT00E 08050 JIFS:e38

1 ®
non-benzenoid and not aromatic
TE-DoRTond J08cdn Q85738 528

> B
non-benzenoid and aromatic

= TH-BoRTond 08050 JAS°S5-EE

=
non-benzenoid and anti-aromatic
TE-DoaTond® 00050 OSrodi-R6°5rE8E

Question Number : 140 Question Id : 4928632380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Newman projection of staggered conformation of ethane 1s

SPe IR SrdEo By, Srglrs Bedso

Options:

T



H
H
H HI_I
2> ®
o H
H
H
H H
3 %
H
H H
H H i
4 ¥

Question Number : 141 Question 1d : 4928632381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

2-Pentyne on reaction with sodium in liquid ammonia produced compound A. What is A?

220835 o3rRcsr (S0 ¢l Fdohod’ K8y adim S3Fssn A 28dob.
AQ0e3?

Options:

n-Pentane

!

Il- 2208

£

=
et
1 =

1-Pentyne
1-208:

> B

cis-2-Pentene

| 985-22085



trans-2-Pentene

o Erey-2-208S

Question Number : 142 Question Id : 4928632382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A solid has hep lattice. Atoms of Z (anions) form hep lattice. Atoms of X (cations) occupy
all the octahedral voids in the lattice. Atoms of Y (cations) occupy half of the tetrahedral
voids. What 1s the molecular formula of the solid?

a8 DIHTgsn hep sosQ) 888 &b, Z S8drmnHen (dddirSen) hep srosd)
A T 0. Xm;a:nm@m (sL0irdSwn) oo™ ol sT @S Sogrols sEaoi
Fanon. Y d8Srawdeos (srhdiraw) o Bgrom@d Sogrod eEohsaromn.
08 HTEY LTI IB?

Options:

Xy3YysZ

1 ®

XY7Z
2P

z X],stzﬁZ

XV

4 ® i

Question Number : 143 Question Id : 4928632383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In an experiment to estimate the molecular weight of benzoic acid by elevation in boiling
pomt method. the experimental value of molecular weight was double the actual value,
Calculate the degree of association of dimer if the elevation in B.P. is 2°C.

T FSS TS GHBDHHRriod BoF ons e weaertrd) D HRPH0S’ HARrE

[ -

wond BHE ITT0E wdeR 808

@080 TR JaPd ©weroed8 BHoPm STrl wowod. TIESS TS B 2°C

Options:



PR L

Question Number : 144 Question Id : 4928632384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2.0 g of a non-electrolyte dissolved in 100 g of benzene lowers the freezing point of benzene

by 1.2 K. The freezing point depression constant of benzene is 5.12 K kg mol™. The molar
mass of the solute is

clih

100 g BodRS® 2 go wadyd J3hgh0s S0N0DSHE Bods HodSd oo 12K

=y ¥4

BH08. BoAES PoAFBS S VNS Jorossw 5.12 Kkgmol™, magsn wmuerdo Jod?

Options:

55 g mol™!
1,

85 g mol™!
2 ¢

120 g mol™?!
9

155 g mol™!
4 %

Question Number : 145 Question 1d : 4928632385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The potential of hydrogen electrode of pH = 10 with respect to standard hydrogen
electrode is

Pire @ e Jogeddor pH = 1058 TrEas Jo§e 80 Jod?



Options:

—0.0591 V
%

0591V
2

02V
=z ®

Question Number : 146 Question Id : 4928632386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following graphs represent a zero order reaction?

(a = mutial concentration of reactant. X = concentration of reactant consumed. t = time)

§od (TRos® JD & Edrol Kdgte dordRron?

(a = §olraddo FodmEd, X = IVRFNIod Bodredso mEs, t= s00)

a) b) 4 d)
; : . ™)
T it dx | |
dt =
o0
=2 g
a r ‘ (a —x) ]
Options:
, » acd
d. C
R
b.c.d
5%
4. % 4,4

Question Number : 147 Question 1d : 4928632387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Fog is a dispersion of

QR QDo ridvon (Fog)?
Options:

liquid in liquid

BS0S* |KBS5w

1 ®

solid in gas

¥4

TPoS0)eS” Poddw

gas in solid

Hodos® Trasng
- fa

liquid in gas

FTO50YS® GBS0

4

Question Number : 148 Question Id : 4928632388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following reactions is used for Mond’s process of metal refining

-.'11

goh Jdged” Q8 Srok DEBS” STHTETR) BeuYdoh?

[s=d0:aq=azo]

Options:

Ni+4CO—=2-5Ni(CO),
Lo



.2|:A11(CN}J_ + Zn——2Au+[Zn(CN), |~
(aq)  (s)  (s) (aq)

Fiie £ 0008 o 400

Fe,0,+C0——32Fe0+CO,

Question Number : 149 Question Id : 4928632389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The most acidic among the following compounds is

Bod TES” I6 e85 she ) HEdo?

Options:

Question Number : 150 Question Id : 4928632390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Oxidation states of S HESEO? are

H,S,0,8° S o), esygbefhdoe

Options:



o of

Question Number : 151 Question 1d : 4928632391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the number of complexes that are optically active

{CD(EH)JH [ Co(NH, ), CL, | [ CoCl, (en), ]:] Co(NH, ), (NO, ), |

$od S03Fod” JQ) (i Foedd DG

-[CD(EH]B]H ;[IC::»{NH3 5 C12:|+ :[Cn:*.r{i‘l2 (611)2] '.[CW@{I’*JH3 ), (NO, )3]

Options:

1 %

I~

3

Ld

Question Number : 152 Question Id : 4928632392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Statement (a) : Co?* has higher magnetic moment than Cr3*
Statement (b) : Ionisation enthalpies of Ce, Pr and Nd are higher than Th, Pa, U

DS (a): Cr3* 508 Co?" & 288 wahi 0,08 Eraoidn otnod
D58 (b): Ce, Pr8a3» Nd o 688 Quiﬁ“@gm Th, Pa 58030 U e 08

ef8om Gotmow

Which of the following is correct?

§od TES* A& HOTHIH?

Options:
Both (a) and (b) are not correct

(a). (b) &0 Bodr J0GID 57D
1. ®

Both (a) and (b) are correct
i (). (b) &0 Bodsr HBBND
(a) 1s correct but (b) is not correct
(a) 385058, 2 (b) H8G0SE &0
]

(a) 1s not correct but (b) 1s correct

(a) &6@35}& 5°¢0 5w {b) ﬁag_@oﬁ&
4

Question Number : 153 Question Id : 4928632393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The schematic illustrations of macromolecules given below represent

ol RSES ayrdorde HEE)E dSdne JOI SrdFon?

(A)
L S W
(©)
Options:
A B £

HDPE LDPE  Bakelite
HDPE LDPE DEBS

1 %

A B €
Bakelite  HDPE LDPE

3885  HDPE LDPE

2
A B C
HDPE Bakelite LDPE
5w HDPE ¥ 8 LDPE

A B £

LDPE Bakelite HDPE
LDPE =§8&  HDPE



Question Number : 154 Question Id : 4928632394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following structures represent amylose?

CH,OH CH,OH
H H H H
H H
og H OH H
HO OH
H OH H OH
> R
CH,0H CH,OH
HO 0 H - OH
H H
ou H O OH H
H H H
H OH H OH
3 R
i
4 %

Question Number : 155 Question Id : 4928632395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

The structure of ranitidine 1s

BIBAS cfa:aéar o“JU“éEE:-u
Options:
CH, CN
s QPR
= e :
N \’/\II:'I)]\NHCH3
1 B
CH(NO,)
Ble:N \/ﬂ\/\/ﬂ -. )
0 \/\E)\ —
i ®
CH(NO,)
Me N \ﬂ\/s 2
O \/\EJJ\‘_‘CHMe
3.
T ':Hf'n
}E‘*‘g\/ N—CN
Y 5
N \/\/\E)\NHCH?r
4 ®

Question Number : 156 Question Id : 4928632396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Arrange the following bromides in the order of reactivity in undergoing S, 1 reaction

4

Bod (FGodn Syl S8gh o8 dorgied Bood” endyod
. N D

= Tl
3 B 2
Sn A >y
(1) (1) (iit) (iv)
Options:
1>111>11>1v
i

w>n>u>i
> R

1>1>1 =1V
3 ®

H>iw>iu>1

Question Number : 157 Question Id : 4928632397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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From the following identify the reactions that give alcohol as the product

§od T8S* so Sl G dom af)

3 Wogo MaBotiod

5 5 ; .
ii) H,0, Aqueous NaOH
9 (=e)
COOM
11 >
(12) (e @y580)
O
NaBH,
(111) McOH
(. : CHE\C’/CI . s
v -
{.Hg/ \Cl NaOH
Options:
L % 1, 111, 1V
1,11, Iv
g
1, 11, 111
s
11, 111, 1V

Question Number : 158 Question 1d : 4928632398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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What 1s the possible product (P) i the following reaction?

Bod €iges® ggcy ed o 267

®)
o

MNaOH/A
> P

3

Options:

= o

CHO

CHO

}:[ }j[ (o (o

Question Number : 159 Question Id : 4928632399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What are the products B and C in the following reaction sequence?

8od Horg wiEHsnd® edomer B, C oo 22

CO.H .
= MNaOH MNaOH & Ca0 2
O B : SE

Options:



(B) (€)

Oreose O

1. ¢
(B) (©)

. O—CDI}JH <:>—DH
(B) (©)
O O
(B) (©)

Question Number : 160 Question Id : 4928632400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which of the options correctly represent the basicity for these compounds

& dAFTre gded) 0m Jrdod odEswn

NH, NH, NH,
© @,
NO,
(a) (b) (c)
Options:
a>c>b
1. ®
a>b>c¢

o o



c>bi=a

c>a>b



